
-3-e-mail: export@rolstal.pl

1 W10-03-19 Latch �e HDG pcs
2 W10-02-17 Tie-stall clamp type A HDG set
3 W10-03-28 Ver�cal chain type A HDG pcs
4 W10-03-16 Joke HDG pcs
5 W10-03-06 Chain braket HDG pcs
6 T33-05-01 Schackle M 10 pcs
7 W10-03-10 Anchor HDG pcs

7

6

Latch �e HDG 

1

Tie-stall clamp 

2

* to choose joker ( 4*) or chain braket ( 5*)

5* 4*

2

1

pipe 1½" 

pipe 1" 

3

4*

5*

76

CUBICLES, STEEL SLATED FLOORS

TIE-STALL TYPE A

HDG  -  an�-corrosion protec�on - hot-dip galvanized.



3*, 4* - two types of �e-stall rear arches curves to choose 

-4-
*5  - Screws M10x80 ( 2 psc) - not included in set.
HDG  - an�-corrosion protec�on - hot-dip galvanized

1 W10-02-22 Steel post to Tie-Stall type A HGD pcs
2 W10-02-32 Tie-stall side steel arch HDG pcs
3 W10-02-37 Tie-stall rear steel arch HDG pcs
4 W10-02-43 Tie-stall rear steel arch VI HDG pcs
5 W10-02-17 Tie-stall clamp type A ( without screws M10x80) set

2

1

3*

5*

4*

SYSTEM ELEMENTS 

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com

1
6
0
 c

m

65 cm

~
3
0
 c

m

95 cm25 cm 1½”

1"

Ø

Ø



-5-

W10-01-03

1

concrete min. B20

HDG  - an�-corrosion protec�on - hot-dip galvanized
 *   -  Screws M10x80 ( 2 psc ) - not included in set.

1 W10-01-03 Tie-Stall IA HDG set
2 T08-10-040 Tube 33,7 x 2,6 ( 1") HDG m.

TIE-STALL IA 

e-mail: export@rolstal.pl

1
6
0
 c

m

65 cm1½”

10-15 cm

2

±0 cm

+ 8-10 cm
+  cm20

Ø

*

1-3%

~
3
0
 c

m

CUBICLES, STEEL SLATED FLOORS



W10-06-52

1

slo
pe 1-3 %

concrete min. B20

HDG  - an�-corrosion protec�on - hot-dip galvanized
 *   - Screws M10x80 ( 2 psc) - not included in set.

*

1 W10-06-52 Tie-Stall IAR HDG set
2 T08-10-040 Tube 33,7 x 2,6 ( 1") HDG m.

3 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

TIE-STALL IAR 

-6- www.rolstal.com

1
6
0
 c

m

65 cm1½”

10-15 cm

2

Ø

*

1-3%

~
3
0
 c

m

3

±0 cm

+ 8-10 cm
+  cm20

CUBICLES, STEEL SLATED FLOORS



2

W10-01-17 le�

3

W10-01-17 rigth

TIE-STALL IIA 

1

W10-01-12

1
6
0
 c

m

65 cm1½”

1"

slo
pe 1-3 %

concrete min. B20

4

Ø

Ø

HDG  - an�-corrosion protec�on - hot-dip galvanized
 *   - Screws M10x80 ( 2 psc ) - not included in set.

*

1-3%

60 cm

1 W10-01-12 Tie-Stall IIA HDG set
2 W10-01-17 Tie-Stall IIA L HDG set
3 W10-01-17 Tie-Stall IIA P HDG set
4 T08-10-040 Tube 33,7 x 2,6 ( 1") HDG m.

~
3
0
 c

m

-7-

CUBICLES, STEEL SLATED FLOORS

10-15 cm

e-mail: export@rolstal.pl

±0 cm

+ 8-10 cm
+  cm20



TIE-STALL IIAR 

1

2 3

W10-06-58 W10-06-58

W10-06-55

1
6
0
 c

m

65 cm1½”

1"

~
3
0
 c

m

slo
pe 1-3 %

concrete min. B20

4

Ø

Ø

HDG  - an�-corrosion protec�on - hot-dip galvanized
 *   - Screws M10x80 ( 2 psc) - not included in set.

*

1-3%

60 cm

1 W10-06-55 Tie-Stall IIAR HDG set
2 W10-06-58 Tie-Stall IIAR L HDG set
3 W10-06-58 Tie-Stall IIAR P. HDG set
4 T08-10-040 Tube 33,7 x 2,6 ( 1") HDG m.

5 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

5

-8-

CUBICLES, STEEL SLATED FLOORS

10-15 cm

www.rolstal.com

le� rigth

±0 cm

+ 8-10 cm
+  cm20



TIE-STALL VIA 

1 2

3

W10-01-42

4

W10-01-52 le�

W10-01-52 rigth

W10-01-47

1
6
0
 c

m

95 cm1½”

1"

~
3
0
 c

m

slo
pe 1-3 %

concrete min. B20

5

Ø

Ø

HDG  - an�-corrosion protec�on - hot-dip galvanized
 *   - Screws M10x80 ( 2 psc ) - not included in set.

*

1-3%

60 cm

1 W10-01-47 Tie-Stall VIA P+L HDG set
2 W10-01-52 Tie-Stall VIA L HDG set
3 W10-01-52 Tie-Stall VIA P HDG set
4 W10-01-42 Tie-Stall VIA HDG set
5 T08-10-040 Tube 33,7 x 2,6 ( 1") HDG m.

-9-

CUBICLES, STEEL SLATED FLOORS

e-mail: export@rolstal.pl

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL VIAR 

-10-

1 2

3

W10-06-60

4

W10-06-63 le�

W10-06-63 rigth

W10-06-62

1
6
0
 c

m

95 cm1½”

1"

~
3
0
 c

m

slo
pe 1-3 %

concrete min. B20

5

Ø

Ø

HDG  - an�-corrosion protec�on - hot-dip galvanized
 *   - Screws M10x80 ( 2 psc) - not included in set.

*

1-3%

60 cm

1 W10-06-62 Tie-Stall VIAR P+L HDG set
2 W10-06-63 Tie-Stall VIAR L HDG set
3 W10-06-63 Tie-Stall VIAR P HDG set
4 W10-06-60 Tie-Stall VIAR HDG set
5 T08-10-040 Tube 33,7 x 2,6 ( 1") HDG m.

6 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

6

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



1 W10-03-21 Whele releaser B HDG pcs
2 W10-03-02 Tie hook B HDG pcs
3 W10-03-26 Ver�cal chain type B HDG pcs
4 W10-03-16 Joke HDG pcs
5 W10-03-06 Chain braket HDG pcs
6 T33-05-01 Schackle M 10 pcs
7 W10-03-10 Anchor HDG pcs

Wheel releaser type B

Tie hook type B

7

6

1

2

* to choose joke  ( 4*) or chain braket ( 5*)

5* 4*

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

TIE-STALL TYPE B

2

1

3

4*

5*

7
6

-11-

CUBICLES, STEEL SLATED FLOORS

e-mail: export@rolstal.pl



3*, 4* - two types of �e-stall rear arches curves to choose

1 W10-02-27 Steel post to Tie-Stall type B HDG set
2 W10-02-32 Tie-Stall side steel arch HDG set
3 W10-02-37 Tie-Stall rear steel arch HDG set
4 W10-02-43 Tie -Stall rear steel arch  VI HDG set

2

1

3*

4*

SYSTEM ELEMENTS  

1
6
0
 c

m

65 cm

~
3
0
 c

m

95 cm25 cm 1½”

1"

Ø

Ø

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

-12-

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com



TIE-STALL IB 

W10-01-07

1

65 cm1½”

slo
pe 1-3 %

concrete min. B20

2

Ø

1-3%

1 W10-01-07 Tie-Stall  IB HDG pcs
2 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

~
3
0
 c

m

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1
6
0
 c

m

-13-

CUBICLES, STEEL SLATED FLOORS

e-mail: export@rolstal.pl

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL IBR 

W10-06-03

1

1
6
0
 c

m

1½”

slo
pe 1-3 %

concrete min. B20

2

Ø

1-3%

1 W10-06-03 Tie-Stall  IBR HDG pcs
2 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

~
3
0
 c

m

65 cm

2

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

-14-

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL IBW 

W10-06-06

1

1
6
0
 c

m

1½”

slo
pe 1-3 %

concrete min. B20

2

Ø

1-3%

1 W10-06-06 Tie-Stall  IBW HDG pcs

2 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

~
3
0
 c

m

65 cm

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

-15-

CUBICLES, STEEL SLATED FLOORS

e-mail: export@rolstal.pl

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL IIB 

5

1

2 3

W10-01-27 le� W10-01-27 rigth

W10-01-22

1½”

1"

slo
pe 1-3 %

concrete min. B20

4

Ø

Ø

1-3%

60 cm

1 W10-01-22 Tie-Stall  IIB HDG pcs
2 W10-01-27 Tie-Stall  IIB L HDG pcs
3 W10-01-27 Tie-Stall  IIB P HDG pcs
4 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

~
3
0
 c

m

65 cm

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1
6
0
 c

m

-16-

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL IIBR 

1

2 3

W10-06-12 W10-06-12

W10-06-09

1½”

1"

slo
pe 1-3 %

concrete min. B20

4

Ø

Ø

1-3%

60 cm

1 W10-06-09 Tie-Stall  IIBR HDG set
2 W10-06-12 Tie-Stall  IIBR L HDG set
3 W10-06-12 Tie-Stall  IIBR P HDG set
4 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

~
3
0
 c

m

65 cm

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1
6
0
 c

m

4

-17-

CUBICLES, STEEL SLATED FLOORS

e-mail: export@rolstal.pl

le� rigth

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL IIBW 

1

2 3

W10-06-18 W10-06-18

W10-06-15

1
6
0
 c

m

1½”

1"

slo
pe 1-3 %

concrete min. B20

4

Ø

Ø

1-3%

60 cm

1 W10-06-15 Tie-Stall IIBW HDG set
2 W10-06-18 Tie-Stall IIBW L HDG set
3 W10-06-18 Tie-Stall IIBW P HDG set
4 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2")  HDG m.

~
3
0
 c

m

65 cm

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

-18-

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com

le� rigth

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL VIB 

1 2

3

W10-01-57

4

W10-01-67 le�

W10-01-67 right

W10-01-62

95 cm1½”

1"

~
3
0
 c

m

slo
pe 1-3 %

concrete min. B20

5

Ø

Ø

1-3%

60 cm

1 W10-01-62 Tie-Stall VIB P+L HDG pcs
2 W10-01-67 Tie-Stall VIB L HDG pcs
3 W10-01-67 Tie-Stall VIB P HDG pcs
4 W10-01-57 Tie-Stall VIB HDG pcs
5 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1
6
0
 c

m

-19-

CUBICLES, STEEL SLATED FLOORS

e-mail: export@rolstal.pl

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL VIBR 

1 2

3

W10-06-21

4

W10-06-24

W10-06-24

W10-06-27

95 cm1½”

1"

~
3
0
 c

m

slo
pe 1-3 %

concrete min. B20

5

Ø

Ø

1-3%

60 cm

1 W10-06-27 Tie-Stall VIBR P+L HDG set
2 W10-06-24 Tie-Stall VIBR L HDG set
3 W10-06-24 Tie-Stall VIBR P HDG set
4 W10-06-21 Tie-Stall VIBR HDG set
5 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1
6
0
 c

m

5

-20-

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com

le�

rigth

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL VIBW 

1
6
0
 c

m

95 cm1½”

1"

~
3
0
 c

m

slo
pe 1-3 %

concrete min. B20

4

Ø

Ø

1-3%

60 cm

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 2

3

W10-06-30

4

W10-06-33

W10-06-33

W10-06-36

1 W10-06-36 Tie-Stall VIBW P+L HDG set
2 W10-06-33 Tie-Stall VIBW L HDG set
3 W10-06-33 Tie-Stall VIBW P HDG set
4 W10-06-30 Tie-Stall VIBW HDG set
5 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

-21-

CUBICLES, STEEL SLATED FLOORS

e-mail: export@rolstal.pl

le�

rigth

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



TIE-STALL VIBWR 

1

2 3

W10-06-37 le� W10-06-37 rigth

W10-06-38

1
6
0
 c

m

95 cm1½”

1"

~
3
0
 c

m

slo
pe 1-3 %

concrete min. B20

4

Ø

Ø

1-3%

60 cm

1 W10-06-38 Tie-Stall VIBWR P+L HDG set

2 W10-06-37 Tie-Stall VIBWR L HDG set

3 W10-06-37 Tie-Stall VIBWR P HDG set

4 T08-10-050 Tube 48,3 x 3,2 ( 1 1/2") HDG m.

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

4

-22-

CUBICLES, STEEL SLATED FLOORS

www.rolstal.com

±0 cm

+ 8-10 cm
+  cm20

10-15 cm



1 W10-01-77 Tie-Stall VIII - 1 HDG pcs

2 W10-01-85 Tie-Stall VIII - 1 P HDG pcs

3 W10-01-85 Tie-Stall VIII - 1 L HDG pcs

4 W10-01-82 Tie-Stall VIII - 2 HDG pcs

5 W10-01-88 Tie-Stall VIII - 2 P HDG pcs

6 W10-01-88 Tie-Stall VIII - 2 L HDG pcs

7 T33-05-01 Schackle M 10 pcs

8 W10-03-41 Chain type VIII HDG pcs

9 W10-03-31 Tie-Stall ring HDG pcs

VERSION VIII-1    -    PIPE 1 1/2" ( 48,3 mm)

Tying type VIII

7

8

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

9
TIE-STALL VIII

VERSION VIII-2    -    PIPE 2" ( 60,3 mm)

pipe 2" / 1½"

pipe 3/4" 

75 cm

~
3
0
 c

m

±0 cm

+ 8-10 cm
+ 20 cm

1-3%

10-15 cm

slo
pe 1-3 %

concrete min. B20

pipe 2" / 1½"

-23-

CUBICLES, STEEL SLATED FLOORS

rigth

le�

e-mail: export@rolstal.pl



COWSHED STEEL GUTTER GRATE 80

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

1

80 cm

COWSHED STEEL GUTTER GRATE 90

2 90 cm

-24-

X Y

1 W10-12-03 Cowshed steel gu�er grate ( 80 x 110 cm) HDG 80 110 pcs

2 W10-12-06 Cowshed steel gu�er grate  ( 90 x 110 cm) HDG 90 110 pcs

3 W10-12-08 Cowshed steel gu�er grate ( 80 x 120 cm) HDG 80 120 pcs

4 W10-12-07 Cowshed steel gu�er grate ( 90 x 120 cm) HDG 90 120 pcs

www.rolstal.com

5,2 cm5,2 cm

5,2 cm

X

Y

X

Y

4
 c

m

4
 c

m



HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

-25-

SYSTEM ELEMENTS - VERSION TO PLACE IN CONCRETE

Uwięź typu VIII

7

Wall mount 48

1 W10-01-32 Free-stall III HDG pcs

2 W10-91-39 Cross connector 1 ½" -1 ½" HDG pcs

3 W10-91-35 Cross connector 1 ½" -2" HDG pcs
4 T10-90-150 U-shaped clamp C 48 inox  pcs

5 T10-90-160 U-shaped clamp C 60 inox mb.

6 W10-90-06 Cross clamp HDG set

7 W10-92-14 Wall mount 48 HDG pcs

8 T08-10-050 Tube 48,3 x 3,2 ( 1½") HDG m.

1

Uwięź typu VIIIUwięź typu VIIICross connector 1½" -1½"

2* 5

U-shaped C 60 inox Uwięź typu VIII

6*

Cross clampUwięź typu VIIICross connector 1½" -2"

3

Uwięź typu VIII

4

U-shaped  C 48 inox

*  -  Cross connectot 1 ½" -1 ½"  ( 2*) or cross clamp ( 6*) Assembly br screws M10x40 ( 4 pcs) - 
       not included.

2

4

5

3

7

e-mail: export@rolstal.pl



FREE-STALL III - single row

concrete min. B20

concrete min. B20

FRIE-STALL III - double row

www.rolstal.com-26-

CUBICLES, STEEL SLATED FLOORS

1-3%
~190 cm

~
11

5
 c

m

190 cm

1-3%~190 cm

~
11

5
 c

m



HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

-27-

SYSTEM ELEMENTS - VERSION FOR SCREWING

Uwięź typu VIII

7

Wall mount 48

1 W10-01-37 Free-stall IIIP HDG pcs

2 W10-91-39 Cross connector 1 ½" -1 ½" HDG pcs

3 W10-91-35 Cross connector 1 ½" -2" HDG pcs
4 T10-90-150 U-shaped  clamp C 48 inox  pcs

5 T10-90-160 U-shaped  clamp C 60 inox m.

6 W10-90-06 Cross clamp HDG set

7 W10-92-14 Wall mount 48 HDG pcs

8 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") mb.

Uwięź typu VIIIUwięź typu VIIICross connector 1½" -1½"

2* 5

U-shaped clamp C 60 inox

6*

Cross clampUwięź typu VIIICross connector 1½" -2"

3

Uwięź typu VIII

4

U-shaped clamp C 48 inox

       not included.
*  -  Cross connectot 1 ½" -1 ½"  ( 2*) or cross clamp ( 6*) Assembly br screws M10x40 ( 4 pcs) - 

12

4

5

3

7

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

FREE-STALL III P - DOUBLE ROW

FREE-STALL III P - single row

concrete min. B20

concrete min. B20

-28- www.rolstal.com

1-3%
~190 cm

11
5
 c

m

190 cm

1-3%~190 cm

~
11

5
 c

m



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector  1½" -1½"Cross connector  2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 W10-06-66 Free-stall VIIA 135 HDG pcs
2 W10-10-16 Post to free-stall type B L- 1,7 m HDG set

3 W10-91-43 Cross connector 2½" -2" HDG pcs

4 W10-91-39 Cross connector  1 ½" -1 ½" HDG pcs

5 T10-90-160 U-shaped clamp C 60 inox pcs
6 T10-90-150 U-shaped clamp C 48 inox pcs

7 W10-92-14 Wall mount 48 HDG pcs

8 W10-92-17 Wall mount 60 HDG pcs

9 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

10 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m. 

CUBICLES, STEEL SLATED FLOORS

-29-

SYSTEM ELEMENTS

3 4 5 7

U-shaped clamp C 60 inox Wall mount 48

1
2

3 4

7

59

10

Uwięź typu VIII

6

U-shaped clamp C 48 inox

Uwięź typu VIII

8

Wall mount 60

8

6

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-30-

Free-Stall VII-A 135 - double row

FREE STALL VII-A 135 - single row

concrete min. B20

concrete min. B20

 

- Assembly by screw
M10x100 oc. ( 4pcs) not included.

- Assembly by U-shaped clamps 
INOX( 2 pcs) not included.

www.rolstal.com

135 cm

276 cm

1-3%

1-3%

~135 cm

 7
5
 -

 8
0
cm

~135 cm

135 cm

320 cm

160 cm

 7
5
 -

 8
0
cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector  1½" -2"Cross connector  2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 W10-06-69 Free-stall VIIA 165 HDG pcs
2 W10-10-16 Post to free-stall type B L- 1,7 m HDG set
3 W10-91-43 Cross connector  2½" -2" HDG pcs
4 W10-91-35 Cross connector 1 ½" -2" HDG pcs
5 T10-90-160 U-shaped clamp C 60 inox pcs
6 W10-92-14 Wall mount 48 HDG pcs
7 W10-92-17 Wall mount 60 HDG pcs
8 W10-92-23 Pipe Holder  PCV 159  HDG pcs
9 W10-02-40 Boards holder HDG pcs

10 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

11 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

CUBICLES, STEEL SLATED FLOORS

-31-

SYSTEM ELEMENTS

3 4 5

8 9

U-shaped clamp C 60 inox

Pipe Holder PCV 159 Boards holder

1
2

3 4

5

6

5

10

11

9

8

7

Uwięź typu VIII

6

Wall mount 48 Uwięź typu VIII

7

Wall mount  60

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-32-

FREE-STALL VII-A 165 - DOUBLE ROW

FREE-STALL VII-A 165 - SINGLE ROW

concrete min. B20

concrete min. B20

- Assembly by screw

not included.
M10x100 oc. ( 4pcs) 

INOX( 2 pcs) not included.
- Assembly by U-shaped clamps 

www.rolstal.com

165 cm

336 cm

11
0
-1

1
5
 c

m

1-3%

1-3%
~160 cm

~160 cm

11
0
-1

1
5
 c

m

165 cm

360 cm

190 cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector  1½" -2"Cross connector  2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

-33-

SYSTEM ELEMENTS

3 4 5 6

8 9

U-shaped clamp C 60 inox Wall mount 48

Pipe Holder  PCV 159 Boards holder

1
2

3 4

5

6

5

10

11

9

8

7

Uwięź typu VIII

7

Wall mount 60

1 W10-01-72 Free-stal VIIA 195 HDG pcs
2 W10-10-16 Post to free-stall type B L- 1,7 m HDG set
3 W10-91-43 Cross connector 2½" -2" HDG pcs
4 W10-91-35 Cross connector 1 ½" -2" HDG pcs
5 T10-90-160 U-shaped clamp C 60 inox pcs
6 W10-92-14 Wall mount 48 HDG pcs
7 W10-92-17 Wall mount 60 HDG pcs
8 W10-92-23 Pipe Holder  PCV 159 HDG pcs
9 W10-02-40 Boards holder HDG pcs

10 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

11 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-34-

FREE-STALL VII-A 195 - DOUBLE ROW

FREE-STALL VII-A 195 - SINGLE ROW

concrete min. B20

concrete min. B20

M10x100 oc. ( 4pcs) 
not included.

 - Assembly by screw

- Assembly by U-shaped clamps 
INOX( 2 pcs) not included.

www.rolstal.com

195 cm

396 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

~190 cm

~190 cm

440 cm

240 cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector  1½" -2"Cross connector  2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 W10-06-71 Free-stal VIIA 215 HDG pcs
2 W10-10-16 Post to free-stall type B L- 1,7 m HDG set
3 W10-91-43 Cross connector 2½" -2" HDG pcs
4 W10-91-35 Cross connector 1 ½" -2" HDG pcs
5 T10-90-160 U-shaped clamp C 60 inox pcs
6 W10-92-14 Wall mount 48 HDG pcs
7 W10-92-17 Wall mount 60 HDG pcs
8 W10-92-23 Pipe Holder PCV 159 HDG pcs
9 W10-02-40 Boards holder HDG pcs

10 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

11 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

CUBICLES, STEEL SLATED FLOORS

-35-

SYSTEM ELEMENTS

3 4 5

8 9

U-shaped clamp C 60 inox

Pipe Holder PCV 159 Boards holder

1
2

3 4

5

6

5

11

10

8

Uwięź typu VIII

7

Wall mount 60Uwięź typu VIII

6

Wall mount 48

7

9

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-36-

FREE-STALL DOUBLE ROW VII-A 215 - 

FREE-STALL SINGLE ROW VII-A 215 - 

concrete min. B20

concrete min. B20

- Assembly by screw

not included.
M10x100 oc. ( 4pcs) 

- Assembly by U-shaped clamps 
INOX( 2 pcs) not included.

www.rolstal.com

215 cm

436 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

215 cm

~200 cm

~200 cm

480 cm

250 cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector 1½" -2"Cross connector  2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

-37-

SYSTEM ELEMENTS

3 4 5

10 11

U-shaped clamp  C 60 inox

Pipe holder PCV 159 Boards holder

1
2

3 4

5

6

5

13

12

11

10

9

Double T-clamp

8

Reinforced T-shaped clamp

1 W10-01-74 Free-stall VII-B HDG pcs
2 W10-10-16 Post to free-stall type B L- 1,7 m HDG set

3 W10-91-43 Cross connector 2½" -2" HDG pcs
4 W10-91-35 Cross connector 1 ½" -2" HDG pcs
5 T10-90-160 U-shaped clamp C 60 inox pcs
6 W10-92-14 Wall mount 48 HDG pcs
7 W10-92-17 Wall mount 60 oc. pcs 
8 W10-91-69-01 Reinforced T-shaped clamp 2" / 2" HDG set 
9 W10-91-83 Double T-clamp 2" / 2" HDG set

10 W10-92-23 Pipe Holder PCV 159 HDG pcs
11 W10-02-40 Boards holder HDG pcs
12 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

13 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m. 

7

8

Uwięź typu VIII

6

Wall mount 48 Uwięź typu VIII

7

Wall mount 60

9

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-38-

FREE-STALL VII B

FREE-STALL VII B

concrete min. B20

concrete min. B20

Assembly with:

- Screws M10x80, not included. 
- Reinforced T-shaped clamp 2" / 2" oc. ( 2 pcs);

  

- Double T-clamp 2" / 2" oc. ( 2 pcs);
- Screws M10x80, not included.

Assembly with:

www.rolstal.com

195 cm

396 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

195 cm

~190 cm

~190 cm

440 cm

240 cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector1½" -2"Cross connector 2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 W10-01-90 Free-stall IX HDG pcs
2 W10-91-43 Cross connector 2½" -2" HDG pcs
3 W10-91-35 Cross connector 1 ½" -2" HDG pcs
4 T10-90-160 U-shaped clamp C 60 inox pcs
5 W10-92-14 Wall mount 48 HDG pcs
6 W10-92-17 Wall mount 60 HDG pcs
7 W10-92-23 Pipe Holder PCV 159 HDG pcs
8 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

9 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

CUBICLES, STEEL SLATED FLOORS

-39-

SYSTEM ELEMENTS - VERSION TO PLACE IN CONCRETE

2 3 4

7

U-shaped clamp C 60 inox

Pipe holder PCV 159

1

3

4

5

8

7

Uwięź typu VIII

6

Wall mount  48

6
9

Uwięź typu VIII

5

Wall mount  48

2

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-40-

FREE-STALL IX

FREE-STALL IX

concrete min. B20

concrete min. B20

www.rolstal.com

205 cm

440 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

205 cm

~200 cm

~200 cm

480 cm

250 cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector 1½" -2"Cross connector 2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

-41-

SYSTEM ELEMENTS - VERSION FOR SCREWING

2 3 4

7

U-shaped clamp C 60 inox

Pipe holder PCV 159

Uwięź typu VIII

5

Wall mount 48 Uwięź typu VIII

6

Wall mount 60

1 W10-01-92 Free-stall IX P HDG pcs

2 W10-91-43 Cross connector 2½" -2" HDG pcs

3 W10-91-35 Cross connector 1 ½" -2" HDG pcs

4 T10-90-160 U-shaped clamp C 60 inox pcs
5 W10-92-14 Wall mount 48 HDG pcs

6 W10-92-17 Wall mount 60 HDG pcs

7 W10-92-23 Pipe Holder PCV 159 HDG pcs

8 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

9 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

1
2

3

4

5

8

7

6
9

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-42-

FREE-STALL IX P

FREE-STALL IX P

concrete min. B20

concrete min. B20

www.rolstal.com

1-3%
~200 cm

480 cm

11
5
-1

2
5
 c

m

1-3%

205 cm

~200 cm

250 cm

205 cm

440 cm

1-3% 11
5
-1

2
5
 c

m



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector 1½" -2"Cross connector 2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 W10-01-94 Free-stall X-A HDG pcs
2 W10-10-16 Post to free-stall type B L- 1,7 m HDG set
3 W10-91-43 Cross connector 2½" -2" HDG pcs 
4 W10-91-35 Cross connector 1 ½" -2" HDG pcs
5 T10-90-160 U-shaped clamp C 60 inox pcs
6 W10-92-14 Wall mount 48 HDG pcs
7 W10-92-17 Wall mount 60 HDG pcs
8 W10-92-23 Pipe Holder PCV 159 HDG pcs
9 W10-02-40 Boards holder  HDG pcs

10 T08-10-110 Tube HDG  60,3 x 3,2 ( 2") m.

11 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

CUBICLES, STEEL SLATED FLOORS

-43-

SYSTEM ELEMENTS

3 4 5

8 9

U-shaped clamp C 60 inox

Pipe holder  PCV 159 Boards holder

12

3 4

5

6

5

10

11

9

8

Uwięź typu VIII

6

Wall mount 48 Uwięź typu VIII

7

Wall mount 60

7

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-44-

FREE-STALL XA

FREE-STALL XA

concrete min. B20

concrete min. B20

Assembly with:
- Screws M10x100  ( 4 pcs)
  not included.

Assembly with:
- U-shaped clamps inox ( 2 pcs).

www.rolstal.com

195 cm

400 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

195 cm

~200 cm

~200 cm

480 cm

250 cm



CUBICLES, STEEL SLATED FLOORS

-44-

FREE-STALL XA

FREE-STALL XA

concrete min. B20

concrete min. B20

Assembly with:
- Screws M10x100  ( 4 pcs)
  not included.

Assembly with:
- U-shaped clamps inox ( 2 pcs).

www.rolstal.com

195 cm

400 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

195 cm

~200 cm

~200 cm

480 cm

250 cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector 1½" -2"Cross connector 2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 W10-01-96 Free-stall X-B HDG pcs
2 W10-10-16 Post to free-stall type B L- 1,7 m HDG set
3 W10-91-43 Cross connector 2½" -2" HDG pcs
4 W10-91-35 Cross connector 1 ½" -2" HDG pcs
5 T10-90-160 U-shaped clamp C 60 inox pcs
6 W10-92-14 Wall mount 48 HDG pcs
7 W10-92-17 Wall mount 60 HDG pcs
8 W10-91-83 Double T-clamp 2" / 2" HDG set
9 W10-91-69-01 Reinforced T-shaped clamp  2" / 2" HDG set
8 W10-92-23 Pipe HolderPCV 159 HDG pcs
9 W10-02-40 Boards Holder HDG pcs

10 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

11 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

CUBICLES, STEEL SLATED FLOORS

-45-

SYSTEM ELEMENTS

3 4 5

10 11

U-shaped clamp C 60 inox

Pipe holder PCV 159 Boards holder

12

3 4

5

6

5

12

10

11

10

Uwięź typu VIII

6

Wall mount 48 Uwięź typu VIII

7

Wall mount 60

9

Double T-clamp

8

Reinforced T-shaped clamp

13

78

9

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-46-

FREE-STALL X B

FREE-STALL X B

concrete min. B20

concrete min. B20

- Screws M10x80 not included.

Assembly with:
- Double T-clamp 2" / 2" oc. ( 2 pcs);

  

Assembly with:
- Double T-clamp 2" / 2" oc. ( 2 pcs);
- Screws M10x80 not included.

www.rolstal.com

195 cm

440 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

195 cm

~200 cm

~200 cm

480 cm

250 cm



Uwięź typu VIIIUwięź typu VIIIUwięź typu VIII Cross connector 1½" -2"Cross connector 2½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

-47-

SYSTEM ELEMENTS

4 5

11

U-shaped clamp C 60 inox

Pipe Holder PCV 159 HDG

1
3

4

4

9

7

5

9

3

6

Uwięź typu VIII

6

Wall mount 48 Uwięź typu VIII

7

Wall mount 60

Uwięź typu VIIIUwięź typu VIII Wall �e-strap holder HDGNeck rail holder HDG

9

8

10

11

1 W10-06-89 Free-stall XI M HDG pcs
2 W10-06-90 Free-stall XI Z HDG pcs
3 W10-10-16 Post to free-stall type B L- 1,7 m HDG set
4 W10-91-43 Cross connector 2½" -2" HDG pcs
5 W10-91-35 Cross connector1 ½" -2" HDG pcs
6 T10-90-160 U-shaped clamp C 60 inox pcs
7 W10-92-14 Wall mount 48 HDG pcs
8 W10-92-17 Wall mount 60 HDG pcs
9 W10-92-21 Neck rail holder HDG pcs

10 W10-92-25 Wall �e-strap holder HDG pcs
11 W10-92-23 Pipe Holder PCV 159 HDG pcs
12 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

13 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

8

10

2

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-48-

FREE-STALL XI

FREE-STALL XI

concrete min. B20

concrete min. B20

- Screws M10x100  ( 4 pcs)
  not included.

Assembly with:

- U-shaped clamps inox ( 2 pcs).
Assembly with:

www.rolstal.com

210 cm

415 cm

11
5
-1

2
5
 c

m

1-3%

1-3%

11
5
-1

2
5
 c

m

210 cm

~2
00

 c
m

~200 c
m

480 cm

250 cm



Uwięź typu VIIIUwięź typu VIIICross connector 1½" -2"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

1 W10-01-101 Free-stall XII HDG pcs
2 W10-91-35 Cross connector  1 ½" -2" HDG pcs
3 T10-90-170 U-shaped clamp C 60/104 INOX pcs
4 W10-92-14 Wall mount 48 HDG pcs
5 W10-92-17 Wall mount 60 HDG pcs
6 W10-91-69-01 Reinforced T-shaped clamp 2" / 2" HDG set
7 W10-92-21 Neck rail holder HDG pcs
8 W10-92-25 Wall �e-strap holder HDG pcs
9 W10-92-23 Pipe Holder  PCV 159 HDG pcs

10 T08-10-110 Tube HDG 60,3 x 3,2 ( 2") m.

11 T08-10-050 Tube HDG 48,3 x 3,2 ( 1½") m.

CUBICLES, STEEL SLATED FLOORS

-49-

SYSTEM ELEMENTS

2 3

9

U-shaped clamp C 60 inox

Pipe Holder PCV 159 HDG

2

5

6

4

7

9

Uwięź typu VIII

4

Wall mount 48 Uwięź typu VIII

5

Wall mount 60

6

Reinforced T-shaped clamp HDG

Uwięź typu VIIIUwięź typu VIII Wall �e-strap holder HDGNeck rail holder HDG

7 8

8

1

33
11

10

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-50-

FREE-STALL  XII

concrete min. B20

Assembly with:

- Screws M10x100  ( 4 pcs) not included.
  

- Reinforced T-shaped clamp HDG 2" / 2" oc. ( 2 pcs);

2

7

3

www.rolstal.com

195 cm

1-3%

11
5
-1

2
5
 c

m

~200 c
m

250 cm



Uwięź typu VIIIUwięź typu VIIICross connector 1½" -1½"

HDG  -  an�-corrosion protec�on - hot-dip galvanized.

CUBICLES, STEEL SLATED FLOORS

-51-

SYSTEM ELEMENTS

4* 5

U-shaped clamp C 48 inox

2

1 W10-02-03 Kombibox divider HDG pcs
2 W10-02-07 Kombibox divider  P HDG pcs
3 W10-02-12 Kombibox arch HDG pcs
4 W10-91-39 Cross connector 1 ½" -1 ½" HDG pcs
5 T10-90-150 U-shaped clampC 48 inox pcs
6 W10-90-06 Cross clamp HDG set

1

4

3

5

Uwięź typu VIII

6*

Cross clamp HDG

*  -  Cross connector 1 ½" -1 ½"  ( 4*) or cross clamp - op�on to choose. ( 6*) Assembly br screws M10x40 ( 4 pcs) - not.

e-mail: export@rolstal.pl



CUBICLES, STEEL SLATED FLOORS

-52-

KOMBIBOKS P. - version for screwing

KOMBIBOKS - version to place in concrete

concrete min. B20

concrete min. B20

120 cm

120 cm

www.rolstal.com

1
4
0
 c

m

1-3%

145 cm

250 cm

1
4
0
 c

m

1-3%

145 cm

250 cm


